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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
T 999-9 B 91T 89X JId N 9T ST
T AR R |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
g g9-UF & Iax HAdS a7 B R o
arer & A, AfFT T SR e & W H
g9 =T |
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(c) Question No. 1 is compulsory.
g g 1 aifE ¥

(d) Attempt any four questions out of question
No.2to 7.

UsH @& 2 § 7 % [BE ") g9 & SO
ot

1. Attempt any five parts: 3x5=15

fep=el i W B S ¢
(i) Why is the production possibility curve

concave to the origin ?

SUIET GHIET @b T & [eeTaad Rl 8l © ?
(ii) If the government permanently increases the
price of cigarettes, will the policy have a
larger effect on smoking within one year from

now or five years from now ?

IR gy fRe & $iug S @ w9 a9
SErd B, @ AR B gEAE W) e ot A O
q¥ & i< o1 eFm ar gig 98 & ey ?
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(iii) What determines how the burden of a tax is

divided between buyer and sellers ?

FareTt o REbarell & A HUHR A R
T e, I8 i iR wear & ?

(iv) Do total revenue and price of a good affect
each other 'P What factors influence the
relationship between total revenue and price ?
FT HA SANTH T HAA T FAL B A
HQ § ? B AN TAT HAG B A Gl B
PHF-  HIH TAEGT B & ?

(v)] Why does marginal rate of substitution

diminish along an indifference curve ?

gieegs 95 ST e SeiFal @b B 9y
maﬁf@rsﬂ—cﬁ%?

(vi) What are the causes for the emergence of monopoly ?

THIITFR P ST 89 B T HRT & ?
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2. (i)

The market for ice-cream cone has the
followingﬂ demand and supply sch_edules -

SEEHA & SO A AT qen gt g
=it ¥ - | 2x2=4

Pnce ®)

' Eﬁ“lﬁ’.(?

4 15 16 F7adm |9

Quantity Demanded | 135 | 104 | 81 | 68 | 53 | 39

Quantity Supplied | 26 53 | 81 98 | 110 121

o o T

(a) What would happen if the actual price
in this market were above the
equilibrium price e Show
diagrammatically. :

g A Ak s SR # awafrs Eea
T I W SR off ? e T
q AT HY |
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(b) What would happen if the actual price
in this market were below the equilibrium
price ? Show diagrammatically.

F1BRT AR} 59 SR aEafas HEd
G g A A= o1 ? R a‘o’t qEFar 9
T B

(ii) Does a floor pnée fixed by the government

always change the market outcome ? Explain

- ‘using suitable diagrams. 6

F TR a7 fEiRa o e g e
W%Wﬁﬁﬁﬁt%?@gﬁaﬁ@
Tl e q AT BT |

(iii) How do deadwelght loss and tax revenue

(1)

vary with a size of ‘tax ? Show
Diagrammatically. ' 5
Sfwe & e HX SIFH, HT B STHR B
| e s aRafia 8 ¥ P e @ Ay
eI BT |

Drug interdiction or drug education, which
policy helps to reduce both drug use and drug
related crimes ? Explain using suitable
diagrams. 6
g1 ufdsy ot goiidem, SiE-@ A o
I9GIT T g ey STauEl @ BT HmIN §
TEES Bl & P SIRW & Wi AT HY |
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(ii) Why did OPEC fail to keep high price of oil in

the long run ? Explain with the help of
suitable diagrams. S

MYk Nedeprd a6 A9 I I==T PG FAT ST
T 9T ? STRE & G AT e |

(iii) A market is described by the following

demand and supply equations : 4
Frefafaa AT aer gt S iieeen &/ =R @
ol fopam T ® :
o od = 2P
Qs =300-P

If government imposes tax of X 10 per unit
on the buyer, then find out the price paid by
buyer and received by seller after tax.

e TR Har 9 10X 9fT 518 BT BT A
B @ B D AR HaT B A B TS qeT
fershaT EIRT T S T HEd S e

How do interest rates affect the
consumption- saving preferences of an
individual at present ? Explain using suitable
diagrams. ; 74
o7 & gdaE H# Rl ke @B STEeT-sEd
sreIHERaTeTl @l R JeRR swifad Hr ¥ 2
UG ARG 1 ITART FA T AT L |
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‘(ii) Draw the indifference curve for a person

(1)

deciding how to allocate time between work
and leisure. Is it possible that the person's
working hours would fall with rise in wage ?
Explain using suitable diagrams.

8

HA TUT ARH H T GHY STEfed HA H
T ge §9a © & =fRe @ Hrdw weed H
gfa & A PR e ? Sugeh IREl & SUIRT
HW FLATC !

Mr. 'X' operates a unit where computers are
assembled. His Average total cost schedule
is given below : ‘ ] 6
L. X O% TS G SR @ otEl HeEv
FER B T | IFH! oA FT AN ST A
Ul DT A

Quantity of Average total cost (T)
Computers
Fgex B gl 5w o ww ()
- 200 150600 |
201 15010

7 P1.Q.
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(ii)

After he sells all the 200 comb-uters
assembled by him, he gets a customer who
wants to buy a computer and is willing to
pay T 16000 for it. Should Mr. 'X' assemble
one more computer to sell to this customer?
Give reasons for your answer.

U &R 398 FFT T i 200 HgeX JI B
9%, IQ TH Hal e B S TH HGE GhET
oTedT ¥ qUT §6 W g8 16000 T A
B B AR B R BLOX B osH awes B
F & G 0w ST FgeX FaR =T =Ry ?
AN IR B w7 T

How does a firm's "U" shaped average total
cost curve show the efficient scale of output ?
Explain using a diagram. 4

et B9 &1 "U" & SRR w1 SNEd HA b
IET & FHAT I B! fhT TR Ra@mr B 2

(iii) A profit maximizing firm in a competitive

market is currently producing 100 units of
output. It has average revenue of ¥ 10,
average total cost of ¥ 8 , and fixed cost of
% 200.

(1)
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il SR ¥ @ otfehaw HR ARl BH
o § Icre H 100 FHFAT B/ IEEA H
@ B zE ofua o 10 ¥, ofrd T
arra 8 T qur R @@ 2003 B

(a) What is its profits ? , 2
SO AT B ?

(b) What is its marginal cost ? 1
e dmid ArT F® B ?

(c) What is its average variable cost ? 2

= ot uRad=ig @Fg /= B ?

With the help of a suitable diagram explain

the shut down point for a competitive firm.

(i)

4
U IUYTH ST H FERT A A BH @
e S d' H H &g (sese [y) @
et Y|

Explain the derivation of long run supply

curve of a competitive firm. o

gfedrft & & fong S gt @6 & g
B F AT HL |
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(iii) Do you think that @ngaﬁw produced and

sold by a monopolist is below the socially

 efficient level ? In this context show the dead

weight loss under monopoly, using suitable

diagram. 6

ST SMYeh] TTAT & b Teh TepIfRepTdl &1 Scdifad

AT TN AN G HET G ©9 9 R

Y ¥ g erft B2 39 9a H IuYTH SIRG W

7. (i)

(i)

g9y |

How does an immigration of workers affect
labour demand , the marginal product of the
labour and the equilibrium wage ? Show
diagrammatically. 6
e T Hged Aeed B e g aead
HIAT B ? ARG ERT &R0 |

What may cause a shift in the supply curve

of labour ? '

A B-T PE T ST oww W SR Tk H
FEATT HT THA & ?

10

B e

e
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(iii)Describe how a competitive profit maximizing
firm decides how many workers to hire ? 4

Fotq ¥ 5 afoege @y eif¥epay A gl
w 39 Frefaad @ 5 o s 5 Fge
HET T ?
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